A H B U Z #H B =B
IEZNDLEH AHBREEEEEHEEE LI ERBRIEINBRERBETS
B 4 8 £ B ) 5E
A K B 17 B & 4% 78 78
NN BAh&H AFE 2029@=
1 AR (B {2:M)
IEE0D| fEaL-EOESXE | AL & 8 (% K T ) 44 132 T E A EHEDES EAL B
% B % 5 %1 %20 S (BithE) X 1% % (BAH)
B2 ERERIE
g?&i_yﬁ& :“E;%%% 9,680,000
=L H — B TETHDI LD,
RERWE B B2 9,600,000 o BREEL BN DB
ARSH BARERIE P— RENMARVETROESE
gﬁﬁxﬁ&mgﬁ 35 o 52T 5,
o3t B
REBWE EE B 9,750,000
B AEIEE AARE 0,800,000
mappige | XIEE G E— 9,744,000 MR BlER 10,560,000

IR Bl Bx

[BELDTE]
[FEMEIE. HERIREOESEETRES
TARLEE I AFLENRBL - EZNFLESBECHERRETDELE) TLH
3 EHEHEII AHELNRBELo-ROFLEEED100D110(ZHAE T I ECHEBIAANDELE) TRE

1
2




42218

2 ZHHE (BHF)
ZHOMEMFEHFD x # - =
248 o3  BEXNRRAKE| ZH2E s IEE0BF T ¥ = ®& = B R M E T RS
> & i & F O < & 1+ 5 & E #E H#
£ B B £ A H
[E/NEREBRIEIIERL=-700m HEITET
A=5250m2 ABERIE TA=5250m2 XEiT
. |F1750m [ RIRFRIETERL=120.0m
SH4ETR 1B 10,560,000 $HM4ETR11B | $H44E108208 Egﬁz&;ﬁg%m*ﬁ“
T EBE % O I #
EEZHA T E & & — IFEZE0HH I B % 1 = I = b 2]
& F 52 53
£ A H £ A H
[E/MEEBRIETERL-800m HETEI[RRATEL-ER. LI\ EABRORREICE
A=547.5m2 FEEEIETA=5475m2 REHT |LWTOUENOHEMREEORBAELCERE
185.900 L=2000m (B RIRFHR] HLERL=1200m |FICERGXEAELLIBILNHL-OHEILER
S31449H 308 ' TEAL FEITE TA=7740m2 FEBETA=T740m2 |£L=100mIERLEZISHBEERET S, T D1
(10745900) X E# T L=300.0m &, REILA=5250m2%A=547.5m2& L A=22.5m20)
BIETS,
HA&t BLEE rF E % O I #H
EERHAE T E & HE e — % IE% 05 MR T =z % i3 = I 3 i #
REIRESHE B B £ B 8 E" 5 B
HEITE
(0]
E B # o I #
EEZHE T E & &8 — I E% 0B mH o = % s k3 I = b &
& F 5 73
# A H £ B B
0
r B # 0o I #
EEZHA R & 8 — IEF %01 M T = % B = z = b 2}
& F 5 173
# A H # A A

(BB LEDEE]

EEREE|T, BORPVBELOBBEZLEL. ORNICEEFROZHBEEEHT 5.



